






































16. Broadly in a layman's language (1)

/ disability can be (2) / classified by

two groups (3) / namely mental and

physical. (4)

(3) 'classified by two group 

की जगह classified in two 

groups होगा, जजसका अर्थ होता 

ह-ै'दो भागों में जिभाजजत' ।



17. The issues were (1) / so critical

that they (2) / could not hardly be

resolved (3) / upon such a limited

time. (4)

(4) 'upon' ' की जगह 'within होगा such a 

limited time का अर्थ होता ह-ै'इतन ेसीजमत 
समय के अंदर / भीतर' ।



18. Ram is a very good painter (1) / but 

his paintings (2) / are not easily (3)/ 

accessible with the public. (4)

3.(4) 'accessible with' की जगह

'accessible to' होगा ।



19. He assured me (1)/ that he should

abide with (2)/ my decision in (3) / all

the circumstances. (4)

(2) 'that he should abide with' की

जगह ' that he should abide by' होगा

।



20. I study for (1)/ two hours every

morning (2)/ before going to college.

(3)/ No error (4)

(4) No 

error



21. The Earth can be divided (1)/ to

two parts, (2) / or hemispheres,

according to (3) / meridians. (4)

(2) to two parts' की जगह 'into two 

parts' होगा, क्योंकक divide के सार् into 

का प्रयोग ककया जाता ह।ै



22. When your father inquired (1) / about 

your marks (2) / you lied to him, didn't 

you? (3) / No error (4)

(4) No error



23. Our Housing Society comprises

of (1)/ eight blocks and (2)/ forty

eight flats in an (3)/ area of about

thousand sq. meters. (4)

(1) 'comprises of ' की जगह 

जसर्थ  'comprises' होगा ।

Comprises  consist of



24. The officer along with (1)/ his family

members was (2)/ invited at the

reception party (3)/ organized by his

employers.(4)

(3) invited at' की जगह 'invited 

to' होगा ।



25. Ram is accustomed with

(1)/ sufferings and hard work

(2)/ as he has to (3)/ support

a big family. (4)

(1) accustomed with' की

जगह 'accustomed to' होगा ।




